3PA3KU TECTOBUX 3ABJIAHb
(haxoBUX BCTYIMHHUX BUIPOOYBAHb
JUIs HAaBYaHHS Ha OCBITHRO-KBaJIi(piKaLifHOMY piBHI «Marictp»
31 cnemianbHOCTI 035.041
I'epmaHCBKiI MOBH Ta JIiTepaTypH (TIEpEeKIIaj] BKIIOYHO), epIa — aHITiiChKa
OIIIT «Y cHuii mepekiaj 1BOX iIHO3EMHUX MOB)

TEST I
l.
1.1. Find the correct variant of translation and indicate the number in brackets.
#1. CrnoXvBaHHS MCHIIOI KIJIbKOCTI KaJIOpiid J03BOJISIE )KUTH JOBIIE. (......)
1) Input of fewer calories allows you to live longer.
2) Intake of fewer calories allows you to live longer.
3) Outtake of fewer calories allows you to live longer.
4) Output of fewer calories allows you to live longer.
#2. 1IpoTHM3aKOHHO BUJIMBATH B MOPE OTPYIHI XiMiuHI PEYOBHHH, iX MOTPIOHO BUKUIATH B IHIIOMY

1) Itis illegal to dump into the sea toxic chemicals, they should be disposed of elsewhere.

2) Itis illegal to damp into the sea toxic chemicals, they should be disposed elsewhere.

3) Itis illegal to dump into the sea toxic chemicals, they should be deposited of elsewhere.

4) It is illegal to damp into the sea toxic chemicals, they should be disposed of elsewhere.
#3. barbku BucBapuiu CailMoHa, KOJIM oOaYMiIi Horo Tabemnb. (......)

1) Simon was told down severely when his parents saw his school report.

2) Simon was told apart severely when his parents saw his school report.

3) Simon was told off severely when his parents saw his school report.

4) Simon was put off severely when his parents saw his school report.
#4. Cxoxxe BiH [MO3MYKMB MAITKHY, HIKOTO HE TOBIIOMHUBIIH. (......)

1) He must borrowed the car without telling anybody.

2) He must have borrowed the car without telling anybody.

3) He had have borrowed the car without telling anybody.

4) He had to have borrowed the car without telling anybody.

1.2. Find the correct variant of translation and indicate the number in brackets.
#1. TlokasHuku 6€3pOOITTS HEJOOMIHIOBATUCS NECITUIITTAMHA. (......)
1) The unemployment figures had been being underestimated for decades.
2) They were underestimating the unemployment figures for decades.
3) They underestimated the unemployment figures for decades.
4) They had been underestimating the unemployment figures for decades.
#2. Konucek B bpuraHii cynepmapkeTr He mpaIfoBaiu mo Heaisix. (......)
1) Supermarkets didn’t used to be open on Sundays in Britain.
2) Supermarkets used to be open on Sundays in Britain.
3) Supermarkets didn’t use to be open on Sundays in Britain.
4) Supermarkets didn’t be open on Sundays in Britain.
#3. [licis Baskkoro poboyoro JHS st OO0 3HIMATH CTPEC, Ipalfoun y caay. (......)
1) After a difficult day at the office I like to work off stress by digging in my garden.
2) After a difficult day at the office I like to work out stress by digging in my garden.
3) After a difficult day at the office I like to work away stress by digging in my garden.



4) After a difficult day at the office I like to work down stress by digging in my garden.
#4. My BUMaraeMo HeCIpOCTOBHHX J0Ka31B HOT'0 IPOBHHM TIEPIII, HI’K MU 3MOKEMO 3BUTBHUTH HOTO.

1) We require irresistible proof of his wrongdoing before we can fire him.
2) We require irreversible proof of his wrongdoing before we can fire him.
3) We require irrefutable proof of his wrongdoing before we can fire him.
4) We require irremediable proof of his wrongdoing before we can fire him.

1.3. Find the best translation of the given sentence and indicate its number in brackets.
#1. For the global economy, fuel and food shortages caused by the war are exacerbating post-
pandemic inflation that had already reached multi-decade highs in most of the world. (......)

1) SIkmo TOBOPHUTH MPO CBITOBY €KOHOMIKY, TO MOXHA CKa3aTH, [0 HecTaya IajuBa Ta
IIPOJ/IOBOJIBCTBA, SIKA 3yMOBJICHA BIHHOIO, TIOCHITIOE 1H(IIALIIO Y Tepiof Micis NaHaeMii, sika
y OLIIBIIOCTI KpaiH CBITY BXKE JOCSATIIA HAWBUIIOTO PIBHS 32 OCTAHHI JIECATHIIITTS.

2) Hecraua manpHOrO Ta MPOAYKTIB XapuyBaHHSA BHACTHIZOK BIMHH  MiJKPIILIIOE
MOCTIAaHJAEMIUHY 1HQIISIIIO, sIKa BXKE JOCsrIa PEKOPIHOTO 32 OCTaHHI AECATUIITTS PiBHA Y
OUIBIIIOCTI KpaiH CBITY.

3) BiiiHa 3ymoBHIa MPOOJIEMY 3 MAJIMBOM Ta MPOJAYKTAMU Xap4yBaHHSA y OUIBIIOCTI KpaiH
CBITY MicTs MaHAeMii — I1€ KO TOBOPUTH PO II100alIbHY €eKOHOMIKY.

4) Ha OiibIIOCTI TEPUTOPIT, SIKIIO TOBOPHUTH MO II100aNTBbHY €KOHOMIKY, ITICIIs aHAeMil BifiHa
CIPOBOKYBaJIa HECTauy ITaJMBa Ta MPOIOBOIBCTBA.

#2. Later this year China will double its payments to more than 10% of the global total, overtaking
Japan as the second largest contributor. (....)
1) Hanmpukinni mporo poky Kwurait monBoiteh Buruiath Ha moHan 10% Bix cymapHOro
3arajbHOCBITOBOrO NMOKa3HHUKA, 00IrHaBIIM SMOHIIO SIK APYroro HaO1IbIIOro 1HBECTOPA.
2) Hampukinii 1iporo poxky Kuraii 30U1b1MTh BUIIIATH, TOABOTBINY iX Ha 10% Big cymapHOTO
CBITOBOTO MMOKa3HMKA 1, TAKUM YHHOM, 00iiiae SmoHito, sika MepeMiCTUThCA Ha APYTe MicCIIe.
3) Hanpukinni mporo poxy Kuraii 30impumnte Bumiata 10 10% Bix CyMapHOro CBITOBOTO
MOKa3HMKA 1, TAKUM YMHOM, CTaHe APYTUM HalOUIBIINM iHBECTOPOM, O0IHIIOBIIN STOHIO
4) Hanpukinui nporo poxy Kutaii moapoite Burmiat, gocsrayeum 10% Bix cymapHOTro
CBITOBOTO MTOKAa3HUKA 1, TAKUM YHHOM, 001iiie SInoHit0, sika MepeMiCTUTHCS Ha TPETE MICIIE.

1.4. Choose the best descriptive translation of the sentence containing an idiom and indicate its
number in brackets.

#1. To add insult to injury, after my car broke down, it started pouring on me! (....)
1) I mio e ripime — miclis TOTo, SIK Y MEHE 371aMajiocs aBTo, s 1€ H MOTPAIHB ITi]] JTOIII.
2) Sl TpaBmyBaBcs Tix Yac aBapii, a MICIs TOTO e i MOTpPayB i1 O,
3) Mo B 5K 3 Bijpa — 1 Iie HA [oJady 0 TOTO, 0 Y MEHE 3J1amajiacs MalluHa.
4) A nHaiibinbine MeHe 00pa3miIo Te, IO Micis aBapii S 1e i MOTPANKB ITiJ] IO, SKUH JIUB SK 3
BiJpa.

#2. Don’t count your chickens before they hatch. (....)
1) Ilokwu Bce He BUPIiIIEHO — OYIbTE HACTOPOKI.

2) He cnig qymaTw, 1110 11€ BJKE CTOMPOIIEHTHO.
3) Kypuar o oceHi paxyioTh.
4) He BapTo BBaXKaTH, 1110 BCE BXKE 3aJ1ar0KCHO.



1.5. Match the underlined word with a suitable pair of synonyms and indicate its number in brackets.

#1. My OBHHHI HATIOBHUTH 3yCTPi4 3MICTOBHHMH 1JISIMH. (......)
1) Substential, contentful

2) Substational, informational
3) Substantive, informative
4) Substitutive, informed

#2. Mu BBaKaeMO [OIIJIBHUM JOTPUMYBATHCh TIPAKTHKHA OCTAHHIX POKIB 1 3aKIMKaEMO
03HAWOMHMTHUCS 3 METOI0JIOTIHO. (......)
1) purposeful, goal-oriented

2) advisable, expedient
3) advised, recommended
4) expedient, purposed

1.6. Find the correct variant of translation for the underlined part of the sentence and indicate the
number in brackets.
#1. If the conference is boring, people will probably vote with their feet. (......)

1) Sxmo koH(epeHIis HyIHa, ClTyXadi, HAeBHO, MiyTh [CTh.

2) Slkuio koH(epeHilis HyIHa, CllyXxadi, HalleBHO, OyIyTh 3aCMy4CHI.

3) Slkuio koH(epeHiis HyIHa, CllyXxadi, HAlleBHO, I0JIyYaThCsl JUCTAHIIHHO.

4) Slkuio xoH(epeHIlis Hy/IHa, Ciyxadi, HalleBHO, IPOT0JIOCYIOTh 32 11 BiIMIHY.

#2. Social media platforms, it seems, are a law unto themselves. (......)
1) 3aaeTbes, comianbHi MEpPEXki — I1€ i € 3aKOH.
2) 3maeThes, COLiABHUM MEpeKaM He MOTPiOHI 3aKOHH.

3) 3maeThes, colialibHI MEpPeXi HE 3HAOTh 3aKOHIB.
4) 3maeThcs, comianbHi Mepexi cami 1S cebe BCTaHOBIIOIOTH 3aKOHH.

#3. 3Buuaiinuii mrpad — HAATO JIeTKe MOKAPaHHS /IS IbOTO 37TOYHHIIS. ( ...... )
1) A mere fine is a clap on the hand for this criminal.
2) A mere fine is a clasp on the fist for this criminal
3) A mere fine is a slap on the wrist for this criminal.
4) A mere fine is a punch on the arm for this criminal

1.7. Watch the following video/listen to the following audio:
https://www.youtube.com/watch?v=50DkZQ9J0aQ; choose the correct answer and indicate it in
brackets.
#1. Many supplements in bottles can have _ % more than the recommended daily value for
different vitamins. (......)

1) 100

2) 500

3) 2,000

4) All of the above

#2. Which statement is FALSE? (......)
1) Taking too many multivitamins does not greatly put your body in danger.
2) Taking multivitamins doesn’t replace the nutrients you get from a balanced diet.
3) Your body can make vitamin D after spending some time in the Sun.
4) Pregnant women should advise a doctor when taking supplements.


https://www.youtube.com/watch?v=5ODkZQ9JOaQ

1.8. Watch the following video/listen to the following audio: https://www.youtube.com/watch?v=V-
S_53HmMEUA; choose the correct answer and indicate it in brackets.
#1. What is the distinction researchers test for when trying to assess learning styles? (......)

1) Inherent traits that determine learning styles vs. learning style preferences

2) Learning style habits vs. learning style preferences

3) Prescribed learning styles vs. preferred learning styles

4) Inherent learning styles vs prescribed learning styles

#2. According to the studies mentioned in the video, what learning aid (verbal, auditory, visual,
etc.) generally has the biggest influence on students' ability to retain information? (......)

1) auditory aids

2) visual aids

3) written verbal aids

4) tactile aids

.
2.1 Choose the correct answer and indicate it in brackets.
#1. Noise in the process of decoding is (......)
1) the reader’s idiolect;
2) euphonic means that hinder the proper understanding of the passage;
3) social-historical and cultural shifts through time and space.
#2. Epithetis (......)
1) subjective evaluation;
2) objective evaluation;
3) neutral evaluation.
#3. Who drew the distinction between phraseological fusions, phraseological unities and
phraseological combinations?(......)
1) A. V. Kunin;
2) V. V. Vinogradov;
3) N. N. Amosova.
#4. Phraseological fusions are (......)
1) semantically unmotivated units, the meaning of which cannot be deduced from the
meaning of their separate components;
2) units, the meaning of which is obvious from the meaning of its components;
3) units that consist of two phraseologisms combined.
#5. In modern linguistics parts of speech are discriminated on the basis of 3 criteria (......).

1) semantic, formal and functional;
2) semantic, logical and empirical,
3) logical, proper and contrastive.
4)
2.2 Choose the correct answer and indicate it in brackets.
#1. What is an archseme?
1) a seme that characterizes to which functional style the word belongs;
2) a seme that expresses the attitude of the speaker to the object of nomination;
3) the most common seme of an individual lexical meaning.
#2. What is meant by the Inner Circle of English-using countries?


https://www.youtube.com/watch?v=V-S_53HmEUA
https://www.youtube.com/watch?v=V-S_53HmEUA

1) it comprises countries where English has a long history of institutionalized functions and
stands as a language of wide and important roles in different spheres;
2) it comprises countries where English is widely studied;
3) it comprises countries where English is the first or dominant language.
#3. Samuel Johnson in his dictionary (.....)
1) did not quote writers after 1580;
2) quoted largely living authors;
3) often paraphrased quotations to shorten or simplify them.
#4. The second diaspora of English, in the colonial contexts of .... , involved transportation of the
language, but only to a small extent transportation of English-speaking people. (......)
1) Australia and North America;
2) Asia and Africa;
3) Scotland and Ireland.
#5. What is the national flower of England? (.....)
1) Red rose;
2) Red rose with a white heart;
3) White rose with a red heart.
II.
3.1 Choose the correct answer and indicate it in brackets.
#1. Interpreters mediate communication between people speaking different languages, which
means: (.....)
1) Interpreters help speakers and listeners bridge cultural and cognitive gaps (of which they
may not be aware) that would otherwise impede communication
2) Interpreters help to settle a dispute or create agreement when there is conflict between two
or more people or groups
3) Interpreters work with two or more disputants in order to bring about an agreement,
settlement, or compromise.
4) Interpreters offer their opinion and advice to help people communicate

#2. A fluent oral translation of a text more or less impromptu, after hearing it read first by the
speaker, or even after just one quick silent reading or a few moments of preparation is called {.....)
1) sight translation
2) oral translation
3) consecutive interpreting
4) whispered interpreting

1) an aesthetic object;
2) aseries of concretizations;
3) aschematic formation.
#4. The final task of deconstructive reading is (.....)
1) to overturn the opposition in the text;
2) to establish non-hierarchical relationship;
3) to show the difference between the explicit and the implicit.
#5. The phraseological units old foxes need no tutors and re suu suenoco exemplify (......)
1) descriptive translation;
2) full equivalents;




3) partial equivalents with a divergent image.

3.2. Choose the correct answer and indicate it in brackets.
#1. What is the difference between consecutive and simultaneous interpreting? (.....)
1) Consecutive involves two languages; simultaneous involves three.
2) Consecutive is done in real-time; simultaneous involves pauses.
3) Simultaneous is done in real-time; consecutive involves pauses.
4) There is no difference; the terms are interchangeable.

#2. The necessity for new translations is grounded in (.....)
1) Dynamic processes in language and culture.
2) Imperfect translations of the past.
3) There is no need for new translations when “exemplary” versions already exist.

#3. What does the term "register” refer to in interpreting? (.....)
1) The act of recording the interpretation
2) The level of formality in language use
3) The speed at which the speaker talks
4) The number of languages involved in interpretation

#4. Which of the following is NOT a mode of interpreting? {.....)
1) Simultaneous
2) Consecutive

3) Sight translation

4) Express translation

#5. What is the primary responsibility of an interpreter in a legal setting?
1) Providing legal advice
2) Maintaining impartiality
3) Influencing court decisions
4) Advocating for one party

TEST Il
l.
1.1. Find the correct variant of translation and indicate the number in brackets.
#1. B SInonii HailBUIHiA piBeHb JOBrOMITTS. (......)
1) In Japan there is the highest level of longity.
2) In Japan there is the highest level of longivity.
3) In Japan there is the highest level of longevity.
4) In Japan there is the highest level of longavity.
#2. Jleski BUAM KUTIB ONMHUIIUCS HA MEKi BAMHPAHHS Yepe3 JIIOJChKY AiSUIbHICTh B AHTapKTUII.

1) Some species of whale were driven to extinct by human activities in Antarctica.

2) Some species of whale were brought to extincting by human activities in Antarctica.

3) Some species of whale were driven to extinction by human activities in Antarctica.

4) Some species of whale were given to extinction by human activities in Antarctica.
#3. Ti 3apxau Bi3HAIOTH, Ky 6 BOHa He imma. (......)

1) She can’t avoid to be recognized wherever she goes.



2) She can’t avoid having been recognized wherever she goes.
3) She can’t avoid being recognized wherever she goes.
4) She can’t avoid recognizing wherever she goes.
#4. Tyt He nocTaTHBO TEIIo. (......)
1) It’s not enough warm here.
2) It’s not too warm here.
3) It’s not warm enough here.
4) It’s not warm here too.

1.2. Find the correct variant of translation and indicate the number in brackets.
#1. Miii nigych, sikuii OyB OiTHUM epMepoM, cTep MO30JIi 10 KPOBi, 00 AaTH CBOIM AITSIM BHUIILY
ocBity. (......)
1) My grandfather, who was a poor farmer, worked his fingers to the blood to send his children
to university.
2) My grandfather, who was a poor farmer, worked his fingers to the bone to send his children
to university.
3) My grandfather, who was a poor farmer, worked his blisters to the bone to send his children
to university.
4) My grandfather, who was a poor farmer, worked his blisters to the flesh to send his children
to university.
#2. SIkio Tv 3apa3 BUIbHUIA, TO MiAMIHIA, Oy/Ib JacKa, 1i JOKyMEeHTH. (......)
1) If you’ve got time on your hands, you could file these papers for me.
2) If you’ve got time in your hands, you could file these papers for me.
3) If you’ve got time into your hands, you could file these papers for me.
4) If you’ve got time with your hands, you could file these papers for me.
#3. MoXJIHBO, BOHA HE 3yMijia 3HAMTH Yacy, o6 npuiitu. Tu x 3Hael, sika BOHA 3aiHATa. (......)
1) She might not have managed to find the time to come — you know how busy she is.
2) She might not manage to find the time to come — you know how busy she is.
3) She must not have managed to find the time to come — you know how busy she is.
4) She could not have managed to find the time to come — you know how busy she is.
#4. Tpenep crpaB/ii 3MyCHB KOMaH/ 1y IIOKa3aTH BCE, Ha 1110 BOHA 31aTHA. (......)
1) The coach really placed the team through their paces.
2) The coach really pushed the team through their paces.
3) The coach really taken the team through their paces.
4) The coach really put the team through their paces.

1.3. Find the best translation of the given sentence and indicate its number in brackets.
#1. Only 30% of Roma adults have worked in the past month, less than half the proportion for the
rest of the continent. (......)
1) Jlume 30% mopociux ocid y Pumi octaHHIN MicsIlb TPAIOBAIH, 3MCHIIIMBIIN O1JTbIIIE,
Hi)K HAMOJOBUHY MPOIOPIIIIO B iHIIUX KpaiHaAX KOHTHUHEHTY.
2) Tlomepemuiit wmicsiup gume 30% pomiB mpaioBajgo, a I€ JieAb HE IMOJOBHHA
BiJITOBITHOTO TTOKA3HUKA B IHIINX KpaiHaX KOHTUHEHTY.
3) Jlume 30% poMiB Masiu poOOTY y MONEPEIHIN MICSIIb, a 11e MCHIIIEC TOJIOBHHU, HIXK HIJK
BIJIMOBITHUM BiZICOTOK B 1HIIIMX KpaiHaX KOHTUHEHTY.
4) Jlume 30% mopociux MEMmKaHI[iB PuMy ocTaHHI#M MICAIb MPAIOBAIN, TAKUM YHHOM,
MIPOTIOPIIiS 3 IHIMUMH KpaiHAMH KOHTHHEHTY 3MEHIITMIAcs OUTbIe, HiXK HATrlOJIOBUHY.



#2. In what | read about the criminal who has done these horrendous acts, there is a reference that he
was particularly shocked by the action of a humanitarian organization. (......)
1) B indopmartii mpo 3I0YHHIIS, IKHIA CKOIB IIi KaXJIKBI ii, MICTUTHCS TOKJIMKAHHS Ha T€, 10
HOr0 0COOIMBO IIOKYBATH [Iii MPEACTABHUKIB OJIHIET TyMaHITapHOI OpraHi3aitii.
2) 3 TOro, 1O S YMUTAB PO I[LOTO 3TIOUHHI, AKUI CKOIB IIi KaxXJIMBI i, BiH 11¢ 3p0OUB YaCTKOBO
yepes 10K, ITOB’I3aHUH 13 AisIMU TYMaHITapHOI OpraHi3arii.
3) B indopmallii npo 3m0YHHII, SIKHIA CKOTB 11l XKaxJIMBI JIi1, € 3rajika mpo Te, 110 HOoro MIoKyBaia
JISUTBHICTH TyMiHATapHOI OpraHizarii.
4) Tadopmariis Ipo 3A0YHMHIS, SKHI CKOIB I[i »axJIMBI Jii MICTHTH 3TajfKy Mpo Te, M0 HOro
0COOJIMBO MIOKYBATH JIii MPEACTABHUKIB OJIHIET ryMaHITapHOI OpraHi3aitii.

1.4. Choose the best descriptive translation of the sentence containing an idiom and indicate its
number in brackets
#1. Are we going to talk about the elephant in the room? (......)

1) Mosxe, MU TaKi ITIOTOBOPHUMO IIPO IOCH BaXKIIUBIIIIE?

2) Tu mo, He MOXel 3HalTH 1110 piu? BoHa xk npsiMo B Tebe niepel ounma.
3) A, MOXe, Taku mepeiaeMo 10 oCHOBHOT0? YoMy HiXTO Mo Iie He 3raaye?
4) lle HAATO BaXJIMBO, HE IPUXOBAEIIL

#2. Speak of the devil. (......)
1) Kaxu npsiMo, He XOI1 HaBKOJIO.

2) JusiBOJI HE CIIUTh.
3) He Bapto OyauTH JIHXO.
4) A och i BiH.

1.5. Match the underlined word with a suitable pair of synonyms and indicate its number in brackets.
#1. O0’etHaHHS 3YCUIIb — HAUMIPOCTIINE CrOCiO AOCITTH ycmixy. (......)

1) amalgamation, merging of efforts
2) merging, union of efforts
3) pooling, uniting of efforts
4) polling, uniting of efforts

#2. BusiBJI€HO, 1110 TOCTPHUIA CTPEC TUMYACOBO MiABUIILYE KPOB'STHUN THCK. (......)
1) Acute, sharp stress

2) Acute, enormous stress
3) Sharp, great stress
4) Intensive, large stress

1.6. Find the correct variant of translation for the underlined part of the sentence and indicate the
number in brackets.

#1. llle xBunHa, 1 BiH OyB Ou HaOpaB sk OigHUEI B TOPOY. (......)
1) Another minute, and he would have put things like a poor man into a bag.
2) Another minute, and he would have become rich.
3) Another minute, and he would have been beaten up.
4) Another minute, and he would have gotten some presents.
#2. The proposal had become the victim of political monkey business and deceit. (......)
1) TIpomo3uriist cTana )KepTBOIO MOJITHYHHUX JKapTiB Ta OOMaHYy.
2) TIpomo3uitis cTajga )KEepTBOIO HECEPHO3HOCTI MOJITHKIB 1 0OMaHYy.




3) IIpomo3uiiis cTajga )KEPTBOO MOJITHYHOTO IIaXpaiicTBa i 0OOMaHy.

4) IMpono3wiis cTaja KEPTBOO MOJITHYHOTO MaBITyBaHHS 1 OOMaHy.
#3. 1li conaaty mpormaiy Hi 3a [anoBy Aymy. (......)

1) These soldiers disappeared searching for a goat.

2) These soldiers got lost because of an accident.

3) These soldiers perished in vain.

4) Nobody knows how these soldiers disappeared.

1.7. Watch the following video/listen to the following audio:
https://www.youtube.com/watch?v=1YSX51xBkos; choose the correct answer and indicate it in
brackets.

#1. Define lucid dreaming. (.....)
1) The ability to know you are dreaming and wake up.
2) The ability to know you are dreaming and control the dream.
3) The ability to recognize your dream is unreal.
4) The ability to remember your dreams after you wake up.

#2. There are four strategies to help increase your ability to lucid dream. How does the strategy of a
Dream Journal help with lucid dream? (.....)

1) It creates a habit in which we can recognize differences between reality and dream.

2) Keeps your brain alert to differences in memory and dream.

3) Allows us to recall the stranger aspects of dream.

4) Improves recall and helps facilitate lucidity.

1.8. Watch the following video/listen to the following audio:
https://www.youtube.com/watch?v=xxa4cCo9CYw; choose the correct answer and indicate it in
brackets.
#1. An exothermic reaction is defined as one that (.....)

1) takes in energy

2) releases energy in the form of light and heat

3) traps heat in the form of carbon

4) stores heat

#2. The remaining material left behind from burning wood is called (.....)
1) remnants

2) pyrite
3) char
4) peat

.
2.1 Choose the correct answer and indicate it in brackets.
#1. Vertical context is (.....)
1) the context providing simultaneous actualization of several meanings of a word;
2) lingual surrounding of a unit of a text;
3) historical and philological context of a literary work.
#2. Subjective sound symbolism is (......)
1) the relations between the sound and the meaning as they exist in the individual’s mind;
2) the relations between the sound and the meaning reflected in the language;


https://www.youtube.com/watch?v=lYSX51xBkos
https://www.youtube.com/watch?v=xxa4cCo9CYw

3) culture-bound symbols emphasized by euphonic means.
#3. Where does the idiom ‘grin like a/the Cheshire cat’ originate from? (......)
1) the Bible;
2) the novel “Alice’s Adventures in Wonderland” by Lewis Carroll;
3) folklore.
#4. Sentence-like units are (......)
1) units that are used in a sentence;
2) units which function pragmatically as sayings, catchwords and conversation formulae;
3) units that consist of several sentences.
#5. Noun, adjective, pronoun, numeral, verb, adverb are ... parts of speech. (......)

1) notional;
2) functional,
3) semantic.

2.2 Choose the correct answer and indicate it in brackets.
#1. What affixes do not take part in deriving new words at the present stage of English language
development? (......)
1) productive
2) semantic
3) non-productive
#2. Semantic dialecticisms are
1) common words the meaning of which differs from the dictionary meaning;
2) words which denote local realia and notions unknown outside a particular region;
3) words which have different combinations of affixes and roots.
#3. What data cannot be provided by etymological dictionaries: (.....)
1) origin of the word;
2) stylistic appropriateness of the word;
3) the immediate source of borrowing.
#4. The first diaspora of English involved migrations of substantial numbers of English speakers
from (......).
1) the present British Isles to Australia and North America;
2) the present British Isles to Australia, New Zealand, and North America;
3) Ukraine to the present British Isles.
#5. What is the Bill of Rights? (.....)
1) Preamble to the Constitution with the statements about individual rights;
2) a constitution article protecting individual rights;
3) a set of amendments protecting individual rights.
II.
3.1 Choose the correct answer and indicate it in brackets.
#1. What does the term "cultural competence™ refer to in interpreting? (.....)
1) The ability to speak multiple languages
2) Understanding and navigating cultural differences
3) Memorizing cultural trivia
4) Avoiding any mention of culture during interpretation

#2. What is the purpose of the Code of Ethics for interpreters? (.....)
1) To regulate interpreter fees



2) To establish professional standards
3) To limit the number of languages an interpreter can work with
4) To enforce dress code guidelines

#3. According to A. Neubert, translation equivalence must be considered (.....)
1) aparadigmatic category, comprising a syntactic, semantic and syntagmatic components;
2) asemiotic category, comprising a syntactic, semantic and pragmatic component;
3) apragmatic category, comprising a paradigmatic, syntactic and semantic component.
#4. Combined renomination of a realia implies: (.....)
1) transcription and descriptive paraphrase;
2) loan translation and contextual interpretation;
3) description and hyperonymic renomination.
#5. The word combination Cmapuii nosuii pix in the Translation Studies perspective is (......)
1) a phraseological unit;
2) realia;
3) averbal image.

3.2. Choose the correct answer and indicate it in brackets.
#1. Back in 1680 John Dryden distinguished between (.....)
1) Metaphrase, imitation, and paraphrase;
2) Formal and functional translation;
3) Intersemiotic, inetrlingual and intralingual translation.
#2. Martin Luther uses the verbs ubersetzen (to translate) and verdeutschen (to Germanize) (.....)
1) almost interchangeably;
2) to stand for domestication and foreignization;
3) to characterize word-for-word and sense-for-sense translation
#3. When is the use of a bilingual dictionary most appropriate for an interpreter? {(.....)
1) During preparation before an assignment
2) During the actual interpretation process
3) Only in legal settings
4) Never, as it is considered unprofessional
#4. What is NOT an appropriate way for an interpreter to handle situations where there is no
equivalent term in the target language? (.....)
1) Explain or describe the notion
2) Substitute with a similar term in the target language
3) Ask the speaker for clarification
4) Refuse to interpret such terms

#5. The interpreter's mother tongue (or its strict equivalent) into which they work from all their other
working languages in both consecutive and simultaneous interpretation, the language they speak best,
and in which they can easily express even complicated ideas is called: (.....)

1) A language

2) B language

3) C language

4) D language



IIPUMITKA: 3asoanns 1.1. — 1.6. wacmunu I oyinwwmocs ¢ 2 oanu, 1.7.-1.8. uacmunu 1
ouinoomocs 6 4 banu, wacmunu Il — 3 6anu, wacmunu Il — 2 b6anu.
KJII0Ul
JI0 3pa3KiB TECTOBHX 3aBJaHb

Test |

11.- 2,1,3,4 1.2.— 4,3,1,3 1.3.-1,4 14.-1,4
15.-3,2 16.-1,4,3 1.7.-4,1 18.-1,2
21.-3,1,2,1,1 22.—3,3,3,2,2

31.-1,1,3,2,3 32.-3,1,2,4,2

Test 11

11.- 3,3,3,3 1.2.-2,1,1,4 1.3.-3,4 14.-3,4
15.-3,2 16.-3,3,3 1.7.-2,4 1.8.-2,3
21.—-3,1,2,2,1 22.—3,1,2,2,3

31.-2,2,2,1,2 32.-1,1,1,41



